PRACTICE QUESTIONS FROM PREVIOUS CHAPTERS.3

Complete the pairs:

a. magnification of image formed by mirror: -v/u; magnification of image formed by lens: .......
b. Electric motor: magnetic effect; safety fuse: ........
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If the relative refractive index of water with respect to glass is 9/10, find the relative refractive index of

glass with respect to water.
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The magnification of the image formed by a mirror is +1. Identify the type of mirror used.
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The path of light travelling from a medium A to another medium B is given.

a. Which is the optically higher denser medium? Justify your answer.

b. Which is the medium through which light travels with greater speed?

c. Identify the medium having greater refractive index.
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Electric current is flowing through a straight conducting wire from East to West direction. The direction
of magnetic field below conductor will be towards ...........

a.north b. South c. East d. West
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The ratio of primary current to the secondary current of a transformer is 1:10.
a. The transformer is ....... (step up/step down)

b. The ratio of primary voltage and secondary voltage is .........
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It is given two resistors having resistances 5Q & 20 Q and a 6 V battery.

a. Construct the circuit using all the three to make available maximum current.
b. Calculate the current.
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Give the reason for the the following.

a. Filament lamp is evacuated and filled with nitrogen gas at low pressure.
b. Split rings are used in DC generator.

c. MCB/safety fuse is used in Electric circuits.

d. Concave mirror is used as make up mirror/dentist mirror.
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A straight conductor is suspended horizontally and pass a current from west to east. There is a magnetic
field along vertically upward direction.

a. The magnetic force on the conductor will be towards ....... ( north/south/east/west)

b. Suggest a method to reverse the direction of force.
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When an object is paced before a concave lens, an image is formed.

a. Which of the following is/are negative according to New Cartesian sign conventions.
[object distance (u)/ image distance (v)/ focal length (f)]

b. The magnification of the image will be ........ (less than one/equal to one/greater than one.)
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